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Wetleasing of aircraft from Acroflot

1709. SHRI RAHASBIHARI BARIK:
Will the Minister of CIVIL AVIATION
be pleased to state:

(a) whether the Aircraft operating on
Delhi’Moscow/Delhi sector has been ta-
ken on wet lease from Acroflot;
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(b) if so, the details of the lease deed
thereof;

(c) whether the flight purser and two
Air Hostcsses for the above sector have
to come to Delhi for their assignment;

(d) if so, the expenditure incurred by
the A.l. on them;

(e) the reasons for not wutilising the
services of the originating/terminating
stations crew members; and

(f) the steps taken by the Government
in this regard?

THE MINISTER OF CIVIL AVIA-
TION (SHRI ANANTH KUMAR): (a)
and (b) Air India has taken IL-62 M
aircraft capacity on wetlease from Aerof-
Jot for its once weekly operations on the
sector Delhi’Moscow/Delhi. The lease
charges are USD 5,000/~ per flying hour.
The lease agreement is valid upto Octob-
er 31, 1999,

(c) to (f) As per lease agreement, the
leased aircraft is served by five or six
cockpit crew and five cabin crew of the
lessor. In addition, Air India provides
one flight purser and two airhostesses
who are based in Delhi. Hence no addi-
tional cxpenditure is incurred on their
transportation.
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